TIME CONTROL ‘15

HG1 FLEXOPULSE® SERIES
REPEAT CYCLE TIMER

... QN-OFF Repeat Cycle Thmer engincered with
the same features s the rest of the plug-in CYQL-
FLEX® family.

The HG1T FLEXOPULSE® Series is a repeat cycle,
two circuit timer, hioused in the popular Cyot-Flex®
plug-in case. The HGT has a separate dial scale for
"ON" time and "OFF" time. Both "ON" and "OFF"
time intervals are individually adjustable by
conceniric knobs on the tront of the unit. The
combination of the "ON" plus the "OFF" time
equals the total Hime cycie of the unit.

OPERATION

A cycie progress pointer osciliates between the
"ON" and "OFF" time set points. As this pointer
crosses the zero point on the dial, two internal 10
amp S.P.D.T. outpul switches transfer. The transfer
point of the output switches is adjustable to allow a
make before break {overiap)} or a break before make
{dwell) switch action. The overlap or dwell time
interval is limited to 1.5% of the iotal ("ON" plus
"OFEFTY time cyele.

A synchronous uni-directional motor drivesthe unit
through precision gearing. Instant reversing of the
progress pointer is accomplished by positive
mochanical action.

SPECIFICATIONS

Time Ranges

‘ ange Setting Overian
() 30 Sec b Bec
o1 80 Sec I Sec
a2 150 Sec 2 Ses
a3 5 Min 3 Sec
04 10 Min 14 Sec
035 30 Min 30 Sec
08 &0 Min 1 Min
o7 150 Min 2 Min 2 Min
95 & Hrg 5 Min 5 Min
09 10 s 180 Min 10 Min
10 30 Hrs 30 Min J Mir

Repeat Accuracy
% of 1% of Dial

Voltage/Frequency
120 Volt 60 Hz
240 Yolt B0 Hz

Burden
28 VA & 120 Volt AC

Duipul Ratings
10 Amp 120 VAC, 5 Amp 240 VAC (Resistive)
Mechanical sfe 10,000,000 operations.

Switch life 250,000 under 10 Amp 120 VAC resistive oad

1000080 under 5 Amp, 120 VAL resistive [oad.

Temperature Hange
—200 to +140°F

Enclosures and Accessories
Refer to Bulletin 2500

Dimensions
Fefer 1o Back #age of s Bussun,

Laboratory Testing
U.L. Recognition E-81735
C.8.A. Certification LR-24881 m@

Eagle Signal Controls

A Division of Mark |V Industries. inc
8004 Cameron Moad, Austn, Texas TBTER 115 A

LEYH

LA R W



iy
TIME CONTROL ‘!."

WIRING DIAGRAMS

NOICATOR

BOINTER

QRANGE
POINTER

TERMINAL ARRANGEMENT

Figure & Figure 3 CONTACTS BHOWN
IN DN POSITION

Figurg 1

OPERATION

To set: Move the black pointer to the desired OFf setting and the orangs pointer o the desired ON setling. The sum of these QN gl QFF
intervals cannot excesd the total time of one scale. Switch contacts are tripped open or closed each time the indicator pointer passes (0.
When the indicator pointer is in the OFF scale to the left of 0 contacts 4-3 and contacts 6-8 are closed and 4-5 and 6-7 are apen, When the
indicator pointer is in the ON scale to the right side of § contacts 4-6 and 6-7 are closed and 4-3 and 6-8 are open. The indicator pointer
st baved W the preset limitand Dagk 10 0 10 COMPIge Ne 1011 UN O UFF INterval. 1 he two swiIChes Can Operate together or be setto
w & break before make (dwell) interval or make before break {overiap) between ON-OFF switching. Refer to the standard time range
under specifications for the maximum dwell or overiap interval for each time range. Figure 2 itlustrates the path of the indicator
pointer and the swilch action each lime tha zere point is passed. Figure 3 iHustrates the terminal location on the rear of the unit case.

MOUNTING DIMENSIONS

BRILL AND TAP FOUR

HOLES FOR 8.31 SCREWS MM BPACING

:encwew WALHET) 3812
3 (682 \
__ Y Hne A H
. 1 AN
- 3187 2 3 Lam { wo. 1 W wo.z H
Lo (00.85 & 1,37} {59T.85p \ J =
s DIA CUTOUT X ! AN
1.082 4280 Py ; 485
{TE.77} {107 84} - {12383}
] AT T
E (na.: B we.e H
[ €3 e N _,/ \4\‘”_,/
Yo 5“ ;
A R - 1.408 5408 MTE. HOLE
; WBED FOR pee 409 ol
PR LT | oG it
4.125 . 1812 CARE ’
T ek » "}:’;;;; {B4.81
5,750
{148.08) "‘
ORDERING INFORMATION
Consult Eagle for availability of other time ranges,
voltages, and frequencies. HG1 01 AB G5
TIME RAMGE FEATURES
See Specifications for SYMBOL | DESCRIPTION
Time Range Catalog Symbol 05 Revised for Mounting in
Expiosion Prool Housing
VOLTAGE & FREQUENCY a7 Dial Lock
SYMBOL DESCRIPTION 82 Er sed in HN3AS
126 VAC 60 He Expiosion Proof Housing
244 VAC 80 Hz Reguest Bulletin 321E for timer parts

list or Builetin 3210 for dwell-overlap
switeh adjustment,



HOGI00 SERIES
DWELL-OVERLAP SWITCH ADJUSTMENTS

Instractions for adpusting cams of HG100 Series
FLEXOQPULSE® Timers for dwell or overiap.

For purposes of standardization, dwell and overlap
will be as iollows:

Dwel
345 switoh will transier rom 4510 &3 before §-7-8
iteh transfers from 67 to 6-8 as red cycle

Switches
Adiusted for:

Contatt Positions
Buring 7MY Timing

Contact Positions as

Cvertap

6-7-8 switoh with transfer from 8-7 to 6-8 before 3-4-5
switch transfers from 4-5 {o 4-3 as red cycle
progress pointer moves counter-clockwise |
"N scale to "OFF” scale.

o

The following will show switch contact positions.

Loniact Positions

Pointer Passes Tore During “OEEY Timing

5

Dheretl

58

58

4

Gverlap

Maximum dwell or overiap of approximately 1.6% of
wstal dial range mav be obiained by repositioning
CAMS.

Cams should be repositionad as follows, viewing
unit from front

Dwell
Fear Cam - Clockwise
Front Cam — Cournter-Clockwise

Overlap
Rear Cary - Counter-Clookwise
Front Cam — Clockwise

Check for a minimum of 0.0107 overtravel of switch
lavers in both directions after adiusimeant has been
frceeien.

Dwol

Atime clock may be used to time the dwell interval
by bridging ierminals 4 and § and attaching time
clock feads to terminals 3 and 7.

Cverian
To time overlap interval, bridge terminals 4 and 6
and attach time clock lsads o terminals § and 8.

Eagie Signal Controls

A hMark iV Industries Company
BG4 Camercn Foad, Austin, Texas TR7EE

£

D120 NELFETTING



BLUFLLE 1IN JLi-0

HG1 FLEXOPULSE®
Repeat Cycle Timer

PARTS LIST




1. 0123214 832 % 1/4 Screw

2. HPH0-130 Housing Assem

4. PRG-B8 Gasket
5. PDM-BO0 Termmnat Hing

B, Q28717 H-38

bly

0196403 Mounting Screw Package

AT Sorew

. DI35307 2-56 x 3/32 Zet Screw

. H-11430 Motor Plate
10, PZA-380 Switch Insulator
11, F-11431 Cam
12, HG 100-51 Shaft & Pinion
13, PAS-560 Swich Module
14, Q188601 %2 Fiat Washer
15 0158102 %2 Lockwasher

[
7
8. Motor {See Chart)
G

18, 8118013 2-B8 x 13/48 Screw
17, H-8883 Raichet & 8135307 Set Screw
18, HMG100-44 Trip Lever Agssembly

19 PES.343 Spring Clip

20, H-11614 Trip Disc

21. H-10012 Pinion

22, (1144830 440 x 1/4 SEMS
23, HG100-38 Drive Shaft

24, H-18712 Pawl Spring

26 PES.3ED Trip Spring

6. H-18714 Pawl Spring Bracket
70133812 4-24 X 3/8 Screw

28,
28,
30,
31,
32.
33
34
35.

36

37.
38.
. H-10458 Prograss Pointer
40.
41.
42,
43.
44,
4%,
48,
47.
48,
49.
80,
51.
82,
43.
54.

0135418 5-40 x 3/32 Set Screw
H-10282 Pinion

HM-8611 Shim Washer
HG100-40 Gaar Set Assembly
PER-1 Retaining Ring

H-8847 Pinion

H-7621 Post

1108-0281 Gasket

HG100-4 Front Plate

0118817 6-32 x 3/16 Screw
Dial {See Chary)

0123212 6-32 x 3/16 Screw
HMG100-138 ON Pointer Assembly
HG100-37 OFF Pointer Assembly
01586833 Washer

POM-440 Window

PRG-B3 Gasket

PBG-18 Gasket

0188834 Washer

H-B556 Washer

0184315 Pai Nut

PBK-84 Knob

FRK-85 Knob

HG100-138 Window, Knob & Pointer Assy.
HPE0-200 Bezel and Mandle Assembly

0135417 5-40 x 1/8 Set Screw

MOTNR (Ref 8) and DIAL (Ref 38) CHART

Symbol ;::’;e i;{;:ar MOTORS HALS
120V 50 or 80 He 2480V 80 Hz 240V 60 Hz* 60 Hz 50 Hz
o0 30 Sec 20 PRAM.T FRAM -2 PRAM-2 PAN-1030 PARTOSR2
a1 60 Sec 10 PMM-17 PMM-18 PAMM-18 PAN-1031 PAN-1053
G2 150 Sea 4 PMH-278 PMH-279 PMH-27% PAN-1032 PAN-1033
43 5 Min 2 PMM-TO PMH-72 PAH-72 PAN-1034 PAN-1038
04 0 Min 1 PhMH-TS PMH-82 PatH-82 PARN-136 PAN-1037
0% 30 Min 1/3 Phi-01 PMH-94 PAdH-g4 PAN-1038 FPAN-1038
06 80 Min 1/6 PMH-87 PMH-100 PAH- 108 PAN-1040 PAN-1041
a7 150 Min 115 PhaH-115 PMH-118 PMH-118 PAN.1342 PAN-1043
08 5 Hr 1730 P17 PRH-130 PMK-130 PAN-1G44 PAN-1545
o8 O Hi 1/60 PM-133 PMH-136 PAMH-136 FAN-1346 FAN-1047
10 30 Hr 17180 Phid-48 PM-45 PAMM-48 PAN-10548 FAN-1640
11 80 ddr, 17380 PRALED FRAM-51 BMM.51 PAN-1850 PAN-10R1

* Permanent magnet motor (Matlory) requires PGR-204 MOV (GE #V275LA20 orequivalent) across motor for 240V 30 Hz applications,

Eagle Signal Controls

A Mark 1V industries Company

800 Cameron Road, Austin, Texas 78753 WS A

PHINTED G R A

HEVISED 1:-38



